X

N

(=]
&

<o @> (rad)
o
=
a1

(@)
TIT [T T [ TI T[T T[T I T I T[rrrT

|
=
[

o :
T 1
@ N 4
- - - R - - BEH-
'l‘ <

-3 -2 -1 0 1

2

3

TP n (PCA to beamline)

x107°

< o cot(y) >
o
=
a1

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

< 00y > (HM)

N

o ® o

S o o
I I

N
o
T

20

|
N
o
TT T I T T T TTT

|
S
o
T

Ratio
P
Bl

-3 -2 -1 0 1

2

3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N o

Ratio
R
[
? LLLLI LLALS LR

> &
+
> e
s
+

0 1

o
R
N -
I
iR

2

3

TP n (PCA to beamline)

= 100

3

] ;
S N T I e e |

L (EL I A {0

-2 -1 0 1 2
TP n (PCA to beamline)

B I A i R B

> o
+

- M M

~abt -l

=3 -2 -1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


